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For each rational function find the points of discontinuity, if any, and classify each as either a Hole or a
Vertical Asymptote.
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Horizontal Asymptotes depend on the relationship between the degrees of the numerator and the

denominator.
Case 1: If the degree of the numerator is greater than the degree of the denominator: There is NO HA

Case 2: If the degrees of the numerator and denominator or equal: HA: y = ratio of the leading

coefficients
Case 3: If the degree of the denominator is greater than the degree of the numerator: HA: y =0

Write the equations of the Horizontal Asymptotes, if any, for each Rationa Function.
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